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Run 5057 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: 50237
Mean: 22,2465 «/- 0UDDED
St Dhew: 10236 0~ 00045

=== Lager OFF ---
Entrie=: 315187
Mean: G306 «- 0,000
Sid Dhey: 03E2T - 00074

e

Run 5057 quartatwize, Diffs)

25

=== Laser O -—
Entries: 50237
Mean: 09762 «- 0.0029
Sid Dhey: 0UEA30 4~ 00020

=== Laser OFF ---
Entries: 36187
Mean: -0.0041 < 000G
Sid Dhey: 03510 =~ 00073

Run 5057 quartetwise, Asyms(

=== Laser ON -—
Entries: 50237
Mean: 315824 «/- 00920
Sid Dev: 20,8020 +/- LDGEEE

=== Laser OFF ---
Entries: 35187
Mean: -0.1338 «/- 0UOE0E
Sid Dev: 11,3546 4/~ WIM2E
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Run 5057 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-
Entries: 50237
Mean: 21,2703 /- DU00ED
Sid Dhev: 1. 3484 &0 00042

=== Lager OFF ---
Entries: 35187
Mean: B.305F «/- Q.00
Sid Deyv: 03836 - 00014

h

Run 5057 quartetwize, Sums0

=== Laser O -—-
Entries: 50237
Mean: 455167 «- 0.0120
Sid Dev: 26955 - 0.00&5

== Laser OFF ---
Entries: 35187
Mean: 12,6073 - 00036
Sid Dev: 0LGE10 - 0.0026




Run 5057 quartetwise, PosHalAccd Run 5057 quartetwise, NegHalAccA
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Run 5057 quartetwize, Diffsd4 Run 5057 quartetwize, Sumsd
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Run 5057 quartetwise, Asyms4
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Run 5057 quartetwize, Asyms USbgl

=== Laser O -—
Entrie=: 50237
Mean: 000 T «- 0,004
St Dhey: 03144 4~ D000

=== Lager OFF ---
Entrie=: 315187
Mean: -0.002Z3 - 000 F
Sid Dhey: 0037134 = 00072
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Run 5057 quartetwize, Asyms DSbg1

L

=== Laser O -—
Entries: 50237
Mean: 00006 «- 0.0004
Sid Dhey: 0L0S5T 4~ D003

=== Laser OFF ---
Entries: 36187
Mean: 0.0009 +- 0.0005
Sid Drey: 00974 - 00004

Run 5057 quartetwise, Asyms Horiz Fingar
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=== Laser ON -—
Entries: 50237
Mean: 00012 +- 0.0005
Sid Dey: 001168 - 00004

=== Laser OFF ---
Entries: 35187
Mean: -0.0015 «/- 0LO0DE
Sid Dhey: 0017190 = 00004
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Run 5057 quartetwise, Asyms LIShg2

=== Laser O -—-
Entries: 50237
Mean: 000074 «/- Q.0010
Sid Dhey: 02262 & 00007

=== Lager OFF ---
Entries: 35187
Mean: -0.0007 «/- 00012
Sid Dev: 02228 - 00000

Run 5057 quartetwize, Asyms DShg2

=== Laser O -—-
Entries: 50237
Mean: 00003 «- 0.0004
Sid Dhev: 0L0ETT & 0003

== Laser OFF ---
Entries: 35187
Mean: 00005 +- 0.0005
Sid Dev: 0.0&E8 - 00003

Run 5057 quartetwize, Asyms Vert Finger

=== Laser O -—-
Entries: 50237
Mean: 00066 +- 0.0011
Sid Dev: 0.2420 - 00000

== Laser OFF ---
Entries: 35187
Mean: 00026 +- 0.0017
Sid Dev: 0108 - 00072
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Run 5057 quartetwize, posHE vs time
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Run 5057 quartetwize, diffl ve time

Run 5057 quaretwise, asymisub vs fime
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Run 5057 quartetwize, negHO vs time
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10
20—
15—
10— ..
—
5 |
|
5_II L I L L L I L L L I L L 1 I L L L I L 1 L I L L L I 1 L L I L L L I L L L I I:':1I:"
a 20 40 &l &y 100 130 140 180 180 200
Entry§
Run 5057 quartetwise, agymdsub vs time
b " h%!l ll ' |"'_.l :‘: l; :-.T._::
.o et wa T " ) P .
L L I L L L I L L L I L L 1 I L L L I L 1 L I L L L I 1 L L I L L L I L L L I I:':1I:"
20 40 &l Hiy 100 1230 140 180 180 200
Entry§

Run 5057 quartetwize, posH4 vs time
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Run 5057 quartetwize, negH4 vs time

L4

w1 fp

LI

=10

:!
el
-
10—

— 4 i i PRENNL  gijar A INLNE ND pIALe
.l_'||||||||||||||J|||||.|I|||||||I|i|||||||||
] 20 4 &l By 100 120 140 180 180 200

EnbryS
Run 5057 gquartetwize, summd vs time
— ' ' . !
&l —
40—
20—
HERN pine il junNni i an 0N ARimid EAQ FIII.
l:l L L L L 1 L I L L L I 1 L L I L 1 L I L1 L I L 1 1 I Lkl .I 1 1 L L L L I L
] 20 &y &l &y 100 130 140 180 180 200
EntryS
Run 5057 quartetwise, posH4 vs time
14|:|E__|‘-‘-"'- H— e .l-l'lll‘ll"l— [l | o=l -:qq—.!.__ — . PP—
::E R | o : 1
190 —
o0 —
an —
&b —
=
=
l:l_-l L L I L 1 L I L L L I 1 L 4 I L 1 L I'I L L I L 1 1 I L1 I—I 1 1 L -I L L L I L
] 20 & &l &y 100 130 140 180 180 200

wid



Run 5057 quartetwize, USbg2 ve time

Run 5057 quartetwize, USbgl ve time
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Run 5057 quartetwize, DEbg2 ve time

Run 8057 quartetwize, DSbg1 ve time
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Run 5057 quanetwizse, horizFing vs tima

Run 5057 quaretwise, variFing vs timea
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